PRODUCT DATA SHEET

STYLE: HEADBOARD

VENDOR INFORMATION: DES. —
STYLE: FOOTBOARD/S. RAILS/SLATS DOMESTIC:_ = LOCATION: __CHINA ISSUE:__C
DESC: CALVADOS BED IMPORT: _ X
FINISH (S): SAND/OAK METAL FINISH (S): OAK METAL # DESCRIPTION
STEP FINISH (S): STEP 1— (YELLOW) POWDER COAT |~— TrARDWARE
STEP 2— BRUSH (BROWN) 7 |(4) 5/16—18 X 1 3/4" FLAT ALLEN HEAD SCREW
STEP 3— LACQUER
8 |(8) 5/16" ID X 3/4" OD FLAT METAL WASHER
73:}(35"/3/6— 9 |(4) 5/16—18 X 3/4” FLAT ALLEN HEAD SCREW
1 1/8" SQ POST 10 |(4) 1/4-20 X 1 1/2" FLAT ALLEN HEAD SCREW
11 |(12)1/4" ID X 5/8” OD FLAT METAL WASHER
12 |(8) 1/4-20 X 3/4" FLAT ALLEN HEAD SCREW
’Q SIDE RAILS 13 |(1) 5MM ALLEN WRECH
; (2) 13/16" X 4" X 81 1/2" RECT. TUBE 5/0-6/6 - |-
Jd SLATS ——
g (4) 1/2" X 1 1/2" X 60 7/8" RECT. TUBE 5/0 i
(4) 1/2" X 1 1/2" X 76 7/8" RECT. TUBE 5/0 — |-
N 77" 6/6 BETWEEN SIDE RAILS _ :
> | . —— 61" 5/0 BETWEEN SIDE RAILS. 1
INIE I . I
T:1_< [ ~(4) 1" DIA. X 7 1/4" SUPPORT LEG — |-
|I A IJ u N
3/4"SQ TUBE CLEAT — [PLASTIC GLIDE
., — [NOTE: PLASTIC GLIDES PRE-INSTALLED
=S 3/4" X 4" RECT. TUBE —_
%o
2 N6 — | =
- ”
T, \ —=
T
N il .'I\T |
3 /8" 5/ . l ISU REVISION
79 3/4° 6/ AERMSJ_I_INNUGM B ADDING CARTON INFORMATION
11/8” sQ POST c ADDING STEP FINISH
USE THIS AS REFERENCE ONLY - |- [-
HEIGHT] HEIGHT] WIDTH | WIDTH | DEPTH | WEIGHT (LBS.) [fOF CTNS CARTON DIM’S CU FT. U.PS.
size |HDBD | FTBD | HDBD | FTBD | BED [WoB5 [18075R] BED |HDED HEADBOARD FOOTBOARD/SIDE RAILS/SLATS  |HDBDJF.RAIL] Y
5/0 | 60 | 11 |63 7/8[63 7/8|84 5/8[42 48 2 |- |65 X863 X3 1/2 85 1/4 X 12 X 3 1/2 8.294(2.072 -
6/6 | 60 | 11 [79 3/4|79 3/4[84 5/8(52 53 2 [- [82x863Xx31/2 85 1/4 X 12 X 3 1/2 10.63(2.072 -
6/0 | — - - - - - - - - - - -

MATERIALS: ALL TUBE CARBON STEEL




